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discretionary powers when

ha_ or she is not convinced by the
advice of the Council of Ministers

L5 the Constitution requires him/her

to act in his/her discretion in
certain matters

e or she is appointed as the

administrator of an adjoining
Union Territory

Select m@r using the code

given below :
‘9)/1 ,2and 3

(b) 1 and 2 only

(c) 2and 3 only

(d) 3only

7. Which one of the following is @

true of socialism ?7
-'I-_'_'_—__:,_-—

Socialists analyse society in terms
of income distribution

It emphasises the centrality of
~ community

mljsts bEllEVE that class divi-
i are g fact and

(D Tt believes that material benefits
" should be distributed on the basis
. ,r“r‘_ﬂf‘nm

OC6. The Governor of a state may exercise.

&

Match List I with List Il and sclect the
correct answer using the code piven

below the Lists :
List I List I aT
(Concept)
A. Pluralist 1. Power is always
democracy exercised by 2
privileged few
B. People’s 2. Highest and
democracy harmonious
deyelopment of
individual
C. Developmental capacities
ey 3. Social equality
through common g
D. Elitist ownership o
democracy wealth
4. Capacity of
groups to ensure @
Governmental
responsiveness
Code :
A B C D
a4 3 2 1
@y 3
T R S W
L 3 2 @

. Which one of the following Central

Public Sector Undertakings (CPSUs) is
recognized as Miniratugs ?

(a) Airport Authority of India

(b) Indian Oil Corporation Limited
(¢) Hindustan Aeronautics Limited
(d) Steel Authority of India Limited
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N ; A
\_n/]};_.: |@ » @n initiative to transfer the

subsidy to direct bank account of the
beneficiaries, is related to

MG consumers
&f\ internet consumers

ﬂ farmers for fertilisers

Central Government Employees
4 for medical treatment

»A8. Which one of the following _karst
landforms is the @frges__?}_ in size ?

p Ly Polje

) Uvala

‘!’gl Swallow Hole
Mink Hole

I
~19- Singapore is known as P@a’ﬂ,-

because

c“s\ it deals in the processing and
shipping of oil

it is a deep water port built away
from the actual port

ships
ater-

it is on main sea route whe
use to anchor for refueli

ing and taking food items

@)~it serves the parent ports by
receiving the ships which are
unable to approach due to their

large size

ol ‘/249. Which one of the following statemen
& ‘with regard to Censure Mation :@

e of the Hous¢ is required 0
mave it
,jb‘)/Thc Government it free to fix

(a) A leaV

time and date for its discussion

(c) It can also be moved agaifls.F the
entirety of the Council of Ministers

(d) The Speaker decides whether the
motion is in order

'\/211. Which one of the following is a
correct feature of a mg_ng;pﬁﬂ'l 1

(a)y It can be introduced only in the
Lok Sabha

Ecg A Deputy Speaker can also certify
a Money Bill in case of office of

Speaker falling vacant

A Speaker’s authority is final as to
whether a bill is Money Bill or not

dy~Tt can be referred to a joint com-
mittee of the two Houses

22. The idea of social justice requires that

\ L-cqual treatment be supplemented
with principle of proportionality

& due and equal consideration is
given to all individuals

13-€quality of treatment be tran-
scended to recognise special needs

Select the correct answer using the code
given below ; '

\}ﬂﬁ/ﬁand 3

(b) 1and 3 only
(c) 2 only
(d) 2and 3 only
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28 thch one of the following statements
abaut the Attorney-General of India js

: (@) The person must be qualified to

be appointed as a judge of the
Supreme Court

e

edshe enjoys right of audience
__ the Supreme Court and
High Courts in India

(¢) He/she holds office during the
pleasure of the President

(d) He/she receives remuneration as
. ~determined by the President

‘445 Which of the followis

; g-i8/azg correct in
relation to the M

1. Only the Parliament may endow
Panchayats with powers and
authority

state may devolve powers to
Panchayats in preparation of plans
for economic development and
social justice

A state may devolve powers to
Panchayats in implementation of
schemes for economic develop-
ment and social justice

Select the correct answer using the code
given below :

_ (a) lonly
" (b) land3
ey Zand3

11

25.

@) Andal was an Alvar

aikkal Ammaiyar was a devo-
tee of Vishnu

~td)—Metal images of the saints Appar
and Sundarar were made and then

consecrated in a Shiva temple

L26l Consider the following statements
about the Treaty of Amritsar (1809) :

[/}: The Treaty fixed the Sutlej as the
boundary between the Punjab and
British India

t was after this treaty that
Maharaja Ranjit Singh was able
to annex Jammu, Multan and
Kashmir to his domains

Which of the statements given above
is/are correct ?

(a) 1only
(b) 2 only

(&>~ Both 1 and 2

(d) Neither 1 nor 2

L9, Which one of the following stateme:
about the Hmwmﬂu@
correct 7
() 1t has about four hundred signs od_

(b) It was written from right to left o£

(¢) Tt has been found on bone rods ol
and jewellery -

(At refers to the people of Meluhha
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' is/are correct 7
__A. Parmahansa Mandali was founded
in Bengal by Swami Vivekananda

rar Samaj was started in
Maharashtra with the aim of

refannmg Hindu religious thought
and practice

-Select thé correct answer using the code
_given below :

(a) 1 only

by 2 only
"(¢) Both 1 and 2
(d) Neither 1 nor 2

V’i‘). Which one of the following is

correct about Mahatma Gandhi's
Dandi Yatra or Salt March ?

A’
D{.&)

It was the first national activity in
which women participated in large
numbers

Gandhiji allowed the women’s
participation at the request of
Kamaladevi Chattopadhyay

. The march was fully covered by
" the Western press

Mﬂ march began afier the failure
" of the First Round Table Confer-
ence in London

30, The British Committee of the Indian
National Congress was founded in

() 1889 ubﬁr
(b) 1892+ %

(d) 1901 P

) ~present-day Tamil Nadu as well a3
u&- parts of Sri Lanka
) land between present day TIPS
" hills and the southemmost 1P
peninsula

(c) present-day Tamil Nadu and
Maharashtra

y/ present day Kerala, Telangana and
Karnataka

v B2. A member giving notice of a resolution
for removal of Speaker, Lok Sabha
should be addressed to the

9{\{3] Deputy Speaker, Lok Sabha
L{}}/S‘ecrctary General, Lok Sabha
LAC} Prime Minister

Ad) President

l/ﬁ? Which one of the following statements

regarding Public Accounts Committee

15 correct ?

(a) consists of fifteen members

from Lok Sabha and seven mem-
_ bers from Rajya Sabha

cgﬂ It consists of twenty members
from Lok Sabha and ten members
from Rajya Sabha

és!\) The term of members of Public
Accounts Committee is five years

(@ Finance Minister is the Chair-

person of the Public Accounts
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g&kiﬂﬂrchﬂisllym,%m
Which one of the following is the
average age of the class (in years) 7

@___l 12 years
lﬂ;)-”ll«i years
(e 11-6 years
@ 11-8 years

,741.A sum ftriples in ten vears under
compound interest at z certain rate
of imterest, the interest is being

compounded annually. In how many
years, it would become nine times ?

JM{) years
cﬁ_ﬂ) 30 years

6{]403!:31’5

(@50 years

M 42. The number of ways by which
6 distinct balls can be put in 5 distinct

boxes are
@ 7776 (?Pd’ f;zlﬁ

g 15635 1 2520

bﬁfi’/':j). o

At 720

wﬁa wire of length 6 m is stretched such
that its radius is reduced by 20%.
Which one of the following is the
~ value of increase in its length 7

Y 44. The alphabets from A to J are
numbered from 0 to 9 respectively.
Which one of the following is the
value of AGJ-CEG+EDB?

A DO M

@ f;—%c_pﬁv{g;ﬂ'f']

(b) DGF ol ?—St"( ?j;?}

(c) GFD 8%}1 itf_}g;
s= il

"5(415. A is the smallest positive integer which
when divided by 9 and 12 leaves
remainder 8. B is the smallest positive
integer which when divided by 9 and
12 leaves remainder 5. Which one of
the following is the value of A — B?

57 3

: e
B2 g

(e) 1 %
(dy 0

. If South-east is called East, North-west
1s called West, South-west is called
South and so-on, what will North be

called ?

(a) East W W) ¥
t (¥ North-east o

(ﬂ} North-west 5%‘—0

(d) South 2




u
.vﬂ‘f the day before yesterday wag (a) 2 years
Tuesday, when will Saturday be?
_ 3o (b) 3 years :
) A Qe (c) 4 years
(b) Tomorrow o™

P@f‘ﬁ} after tomorrow

(dy Two days after tomorrow

48. What is the value of the missing
number ?

(a) 9
(b) 7
(c) 5
(d) 3

49, In a group of 100 children, 64 children
like to play cricket, 53 children like to
play football and 20 children like to
play both cricket and football. How

many children d@m—p@)
cricket or football

"_W{N“"g (d) 5 years

l,éﬂ Who amo ing is the author
of the Kikatarjuniya ?

@f Magha
Léb Bharavi Gw/"”V

&) Bhasa

@\Bhavabhuti

1/53. Which one of the following is the cor-

rect description of Kandaria Mahadeo ? \ 3{‘*
ﬁg,Q A Shiva temple at Elephanta }@ s
) The title of a work by Bhatti V&:ﬂj’

&) The capital of Chandella kings
Uy A temple at Khajuraho

V. Consider th

about the

owing statements
Ingayats .

v J—-They bury their dead

. They are great believers in the
- Caste system, especially in the
theory of purity and pollution

(a) 3 @?’ LY ~ :
. (ﬁi’:( \3-They are against child marriage
(b) 5 a o = X . and favour widow remarriage
(c) '.': Which of the statements given above
(d) 9 [P is/are correct 7
&ijﬁgo.t_heagcnf{_wasthme W R
times the age of B, If B is currently (b) 1 only pre
9 years old, then after how many years, (¢) 2and3 _
- the age of 4 will be double of the age =3 A

Mmu

C - VMI-U-LHW

it






























i
]
=,

& ’/‘0 104. Which one

regarding iiotion is eorrect ?

(a) All the periodic motions are
—_ necessarily simple harmonic

(b) A1l the simple harmonic motions
' are necessarily periodic motions

There is no co-relation between
the simple harmonic motions and
the periodicity of motion

. The relation between the simple
harmonic motion and periodic
motion depends upon the mass of
object undergoing the motion

"-45. The radar used by police to check
over-speeding vehicles works on the
principle of

(a) Raman effect

(b) Induction effect

o

(¢c) Doppler effect

m;ulomb effect

L —T106. Which one of the following statements

with regard to Newton's thi w of

(a) Force never occurs singly in
nature

(b) When the earth pulls a stone
downwards due to gravity, the
stone exerts a force on the earth

-

(¢) There is a cause-effect relation
~ implied in the third law

(dy~There is no cause-effect relation
~ implied in the third law

39

108.

109.

3/ /
- eworks.to make @ bright white

(b) gemstones in jewellery

(¢) examination of alimentary canal
of the patient

(d) purification of water

Which one of the following ingredients
does NOT constitute paint ?

(a) Turpentine oil (thinner) /C‘E‘\}?{
(b) Poly-hydroxy phenols (anti-skin-
ning agent)

(c) Thiourea (accelerator)

(d) Titanium dioxide (pigment)

Which one of the following statements
about alkaline earth metals is NOT
true ? -

(a) Strontium salts burm with a red
flame

(b) Barium metal is used in medicine (%(
to examine the alimentary canal of \\\
a patient by X-ray
(¢) Green plants need magnesium in
~ order to make the chlorophyll that
trap the energy from sunlight in
photosynthesis

(d) Red colour of gemstone Ruby is
due to the element beryllium
present in it
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